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QUESTION 1

For a backbone distribution system serving a usable floor space of 8,920 m2 (96,000 ft2), the MINIMUM slot area to be
used for this back bone is

A. 0.040 m2 (60 in2)
B. 0.048 m2 (72 in2)
C. 0.056 m2 (84 in2)
D. 0.064 m2 (96 in2)

Correct Answer: B

QUESTION 2

The project managers for component projects A and B schedule the same resource to perform tasks during the same
timeframe, resulting in an over-allocation. The program manager reviews the program resource management plan
determine that project. A can wait until the resource becomes available, and assigns the resource to project B.

This is an example of which of the following?

A. Program resource management planning

B. Program risk mitigation

C. Resource interdependency management

D. Project resource planning

Correct Answer: C

QUESTION 3

In a computer or control room where the plenum is used for heating, ventilating, and air-conditioning, the finished floor
height should be a minimum of how many inches?

A. 8 inches.
B. 12 inches.
C. 2 inches.
D. 6 inches.

Correct Answer: B

QUESTION 4
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Program A is dependent upon program B lo complete benefits sustainment for two benefits Program A is on track to
meet program benefits However program B\\'s program manager has just advised that program B has been closed.

What should program A\\'s program manager update and review first with the stakeholders?
A. Benefits sustainment plan

B. Benefits register

C. Benefits management plan

D. Benefits transition plan

Correct Answer: A

QUESTION 5

Multiple TRs on the same floor should have a least one trade size 3 conduit ran between them.
A. True

B. False

Correct Answer: A
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